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00 O In this part of the paper, you need to choose one word or phrase from a set of four (A, B, C or D) to fill a gap
in thetext.[] [J Itis a good idea to read the text through quickly first to get an idea of what it is about.[] [T When
deciding which option is correct, you must remember that the correct meaning of the word is not always enough.
Very often you need to look at the structure of the sentence or look for fixed phrases and collocations a well as
phrasal(] verbs and linking words.[J [0 Answer all questions. Even if you guess, you have a 25% chance of success.
O O Here are a number of examples of multiple-choice cloze questions and what to look out for:Meaningd [ It
may involve choosing a word according to meaning only. For example:It is common for[J to visit Delphi during
the summer.[J [J A observers[] [ [0 B spectatorsC sightseersD passers-by[] [ The answer is sightseers because it
fits in terms of meaning.[] [0 2 Grammar[ [ It may involve choosing a word that fits in with the grammar of the
sentence. For example:He neverl] in reaching the source of the river..] 0 A managed(] [J [J B achievedJ 0 0 C
arranged O O D succeeded] [ The answer is[] succeeded, ] not because it fits in with the meaning but because
it is the only one that is followed by in and a gerund.O [J 3 Fixed phrasel] O It may involve choosing a word that
fits in a set phrase. For example:Students rarelyd] any notice of their landlords.OJ [0 A paidd O OO O O B took[D O
0 0O 0O Cgotd O O D broughtd O The answer is took because it is part of the phrase take notice of.0] [ 4
Collocation [J 1t may involve choosing a word that usually goes together with another word. For example:[J

0 TheO road was once used by smugglers.CJ [0 A curlingd [ B rolling] [0 C windingl [ O O D wavingO

0 The answer is winding because it is the only one that goes with roadJ [J 5 Phrasal verbs[J [J It may involve
choosing a word that forms a phrasal verb with the correct meaning. For example:Scientists have been quick to

[ out the problems with the new theory.l0 [0 A pointl] 0 O O O Bgived O O O O C letdd OO O D come

[0 The answer is point, not because the other words do not form phrasal verbs with the word out, but becausepoint
out fits in with the meaning of the sentence.
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